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Roll Number
Candidate Name
Venue Name
Exam Date 09/12/2022

|[Exam Time 2:30 PM - 3:30 PM
ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q.1 %v_ﬁw%mmﬁﬁm%wﬁaﬁmm%mmmwmw
efta g1

(&) re3) 1 3rfyuf wreal & T F AT ST AR 3R I2 Meg H RN F} W@/ o
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Ans 1. fHam

X 2. fpanie

X 3. iR

X 4. TR

Question ID : 26433069544
Status : Answered
Chosen Option : 1

Q2 gRRA+BITIHI P A BTG, A-BIHTAI P A BHIUaIS, AxBHTIHS
& A, B 3T UTS 8, ot Fraferaa # & o1+ a1 oivie g8 Aefia sxar g, fF Q, P #t 8+
?

Ans @ 1.PxQ=+R
X2QxP+R
X 3PxQ+R
X 4P+RxQ

Question ID : 264330104987
Status : Answered
Chosen Option : 1

Q.3 faweul ® faar ar S a1 sreR-ae FafiiRad e § uyig (7) F R™_HE R iR

SRGET B YUl B2
0G, RL, XQ, GV, ?

Ans 7 1.SA
X 2.SB
X 3.RA
X 4.RZ

Question ID : 26433066006
Status : Answered
Chosen Option : 1




Q.4 frofafad IR eR-aqEl § @ O fhedt Fifta 8P 79 € ok 1o SR SR B
BRI SHER-TYE HT 999 B |

Ans X 1.ABC
X 2. UK
X 3.XYZ

4. LNM

Question ID : 26433068999
Status : Answered
Chosen Option : 4

Q.5 w3 HEmel B N § WER gea W Fafif@d § @ o1 a1 gHiteor wd g
8 quT 2

Ans X 1.8x4-9+3+2=35
K 2.2x4-8+5+1=50
& 3.8x4+6-2:1=6
X 4.7+2-8x4+1=0

Question ID : 264330105102
Status : Answered
Chosen Option : 3

Q.6 I farey BT ag BT oY AT U U<l & 99 98 H7 &) A sear g P saaa
3ot eI A 3T §
1- History
2- Historian
3- Hobnail
4- Historical
5- Hobnob

Ans X 1.2,1,4,5,3
X 21,2435
& 3.2,4,1,35
X 4.41,253

Question ID : 26433079445
Status : Answered
Chosen Option : 3

Q.7 39 ey &1 ag B3 &l TR} T= | 39 ypR Heiid 8 O yeR gl Sen ugedt
T ¥ 3R Bt eI uihd) e & Ydfta {1
27 :713::32:7?::35:1209
Ans X 1.1105
2 2.1024
7< 3.1100

 4.1008

Question ID : 26433068376
Status : Answered
Chosen Option : 4




’ few arv fRwedt F & 3@ Ay & 99w H A T rpfo-gmer &
SeAfEd (?) & TAT 9 3T Wbl 872

—_—ll| —— | O— | —8 | 0—
—_— | —_— | —C | —O | —=& ?
—|—|5—|>—|—0o]| -
Ans
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"
Question ID : 26433080511
Status : Answered
Chosen Option : 4
Q.9 ,
g9or = e B & e 'MN' R @R @, Re v d9ee & aae e
HEY U giAfE & Taa Hi
M
Gkr42h
N

A v dSPh1ID
X2dgzhv1ko
X3 ygsh1il9
XedS4rido

Question ID : 26433068197

Status : Answered

Chosen Option : 1

Q.10 ww?mmaﬂm <t St It ey w1 FAREgor HRan g1, o) wey iy s

(ﬁ@ﬁﬂ@@%ﬁﬁmmwmﬁw%mﬁaﬁv@mﬂmﬁ
P TSR] B -1 & YR TR IR Fefid 781 g1 71f)
dars : dew
Ans 1. 3T : bl
2< 2. a9y ; TH
X 3.5 : Uk

4. f9egd 4rT : TR

Question ID : 26433068416

Status : Answered

Chosen Option : 4




Q.1 I faped o1 7= B3 il Nt Fe A I yeR et § 9 yeR ygell S gl
T ¥ SR uiEd) T@n od) e & gdfta 21
7:330::?7:203::9:716
Ans 7 1.6
X 2.4
% 3.14

X 4.16

Question ID : 26433059933
Status : Answered
Chosen Option : 1

Q.12 3 Uy B 9 Y 3R I7& a1g F5 s 1, 1 3R 11 faw 7w ¥ | = ) I wed g,
WA € A T qe @ e v 813 €, Froks SR R S P s o1
aﬁmﬁmw%&mmﬁ%l

ﬁ'\q‘q'ﬁ%l
It v Ao g1
ﬁéﬂﬁﬁmﬂiﬂ%l

I- aﬁéﬁawmmﬁqiﬂ%l
II- PIE WRYPR Hooil Tl B
IIl- $ Fiowar A9 &
Ans X 1. 3 e SfERUT Ra B
o 2. 5ad Y 11 3R 111 3RO HRd B
X 3. Pad fFrsps | 3R 111 SFER0 B B

X 4. Faq fspd | 3R 11 3TERT BRI B

Question ID : 26433070397
Status : Answered
Chosen Option : 2

Q13 A+BHFIAIEF A, BF R
A-BHTIf2fH A, BHI AT
A%BHTATEF A, BRTUE®
AGBHIIEfF A BIIHR
IREP-Q%R&S+TE AP B TH R HIY B2

Ans 1 HIdl
X 2.99
X 3.
X 4.9

Question ID : 26433059902
Status : Answered
Chosen Option : 1




Q.14 39 BT 7 P o ey o § 3t yeR wafta § o ver fafafaa
8wt 3 wiafera &1
(FiYe: TEmsil Bt ITF gew il | fyurira fary famm, gof semsit w nfordg w@fean #t
S TIRT | ISTeRVT & T 13 - Kty Aferant SR % SisArae AN S3-1 3afs 13
T forar o1 warar 81 13 BT 1 30 3 & v w1 3k 67 1 3R 3 W wifvrdia wifdrang
H B Al TE 1)

(56, 6, 34)
(102, 27, 78)

Ans X 1.(79, 51, 103)
< 2.(63, 23, 55)
X 3.(52, 22, 38)
& 4. (76,34, 72)

Question ID : 26433074778
Status : Not Answered
Chosen Option : --

Q.15 fafafaa & & $i9 @ e & 1S Avf & g (7) F A w emefte
137,114, 2, 91, 183

Ans X 1.125
X 2. 112
 3.160
X 4.145

Question ID : 26433068841
Status : Answered
Chosen Option : 3

Q.16 T 3rspH far T 8, Forad At ug g 71 2w e fawel # 9 95 wet fawew gfig, st
3T B R PRI
SMQ, WUZ, ACI, EKR, ?

Ans X 1.IMR
X 2.NMR
X 3.QRT
 4.1SA

Question ID : 264330104811
Status : Answered
Chosen Option : 4




! w71 Reredt & & 38 3T & 999 F A T - #
SeAfRES (?) ¥ T 9 HT TR 27

o @ (@)

O @ ©)
O

Ans

Question ID : 26433065978
Status : Answered
Chosen Option : 2

Q.18 = faw e wy #, IR T=m g 3T e ¥ | vle g # (<) F 9l 3R & 7 "en () &
ot ok <t S e | fopelt ab/FamRTdy @ defta @1 5 g S v ad/fmaeEy
& YR TR FAHE ¢ | T ¢ fiepeat 7 & farww 1 giw ) (o & gensi o) 376 waes
it # fywfora frg o, gof Wemaif w wfbard freofea 9 st =rfee) Sarexor 13- -
13 TR HfHaTE 919 6 13 § SigAIaeHIATON ST 31 fban ST w@paT 31 13 B 1 3R 3 A
dreAT 3R 3R firR 1 3R 3 WR iKY wifspaTd <A Ft srgafa T8 @)

Ans X 1.12-25

o 2.28-56
< 3.26-53
< 4.32-65

Question ID : 264330105059
Status : Answered
Chosen Option : 2




Q.19 & T G TEmeil B U § W dgem W Fafiiad § § S 91 gHieo |8l gm?
5dUT9

Ans X 1.9-5x4+6+3=30
X 2.7x9+5-8+4=40
& 3.9%x4+5-8+2=25
X 4.9x3+45+1-6=20

Question ID : 264330105103
Status : Answered
Chosen Option : 3

Q20 e & g T AT eET-3ereT Ryt @ geEr @ §1 '1 g2l arer
Fod & Audg B & gEm 7@g S

Figure 1 Figure 2 Figure 3
Ans X 1.6

x 2.3
& 3.2
X 4.4

Question ID : 26433069442
Status : Answered
Chosen Option : 3

Q21 ) Y 7T vy A $© HYF R ITH a1E S B R uid po Frewd g e §1 Ry
T HYET S TS aH, U & ITH AHIa: Jid a) A firsrar 81 aaf e @ ok 5w
fFruifea =¥ & P19 § freed, T T ST &1 aifhe T § SgERu Hd 81
DY
|.mhR,H§|
.S T,REI
)

L9 H,REI
n.gW T, HEl
. #ER, TR
Ans X 1.1 Il ST e SFTERONaRd &
2. DS 1t Frsp ofgerur Tl v §
< 3. Pad By 111 3TER B §
X 4. T s SERT AR 7

Question ID : 264330104932
Status : Answered
Chosen Option : 2




Q.22 uw fAfa Be UTET &, "KNIGHT' F1 'PMRTSG' fr@T SiTaT @ 3% 'FELLOW" ®t 'UVOOLD!
foran wirar 1 It wrwT # 'DECENT' $9 frar smem»?

Ans 7 1. WVXVMG
X 2. WXMVG
< 3. WXVWMG
< 4. WYXVGM

Question ID : 26433059883
Status : Answered
Chosen Option : 1

Q23 37 fysed Apfa F o H S & T gy F dfERT ¥ (gEe H
At 7 )1

N

Ans

Question ID : 26433068723
Status : Answered
Chosen Option : 3

Q.24 T Ay e YT §, "FUND’ ) 'FOVH' 3R ‘SEND* %1 'FOFU’ & ¥4 ¥ feraT Sirar 81
gt T yTaT A 'GIFT" &Y i yoR | frar srgme

Ans X 1.IKGV
2. VGJI
% 3.1IGV
X 4. HIGW

Question ID : 26433069569
Status : Answered
Chosen Option : 2




Q25 profafas T 3 TgRE w0 & B Red & & 8 B & T @ RER e e
18 + (12X6) + (63+7) x 4 + (275 —11 = 112
Ans X 1.18 3R 11
X 2.123R4
< 3.18 3R 12
& 4.63R4

Question ID : 26433069209
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 1887 ¥, Iqd AT, deT A P TP dwl & 3Mad fraw @ & e
34t dsd yeH fpar atl

Ans X 1. TSdl St I3 (AEB de Chancourtois)
2. ST 3iaeiex Ilﬁ?s’ (John Alexander Newland)
< 3. @R W (Lothar Meyer )
X 4. TfiEh ASalta (Dmitri Mendeleev)

Question ID : 264330640838
Status : Answered
Chosen Option : 4

Q.2 FRiE MRa-TeTH TN 3R aieitgs i 3ar wifertt #) af 2000 F YR TSR gRT
e 9 arat i wRdta A W & wwnfea fsar a2

Ans 1 TEI Al

X 2. T
X 3. URAM
2 4. U7 faywor

Question ID : 26433074833
Status : Answered
Chosen Option : 1

Q.3 TR, T ST T, BT WERT YR & FHafafed § ¥ e ey 0 9 fear s g
Ans X' 1. WddIeaH

o 2.5
X 3. BUD

X 4. Tfogd

Question ID : 26433064290
Status : Not Answered
Chosen Option : --

Q4 fFafafEa & 2 e fRrvamt 9w te s fFar ur?
Ans X 1. W GYH

2< 2. Tifas wm

3. &g

< 4. 4d yrTaf

Question ID : 264330105402
Status : Not Answered
Chosen Option : --




Q.5 YRA F fpaa drpaur frafaT a2
Ans X 1.553

X 2.533
 3.543
X 4.523

Question ID : 26433064849
Status : Answered
Chosen Option : 3

Q.6 2022 ®, TH3MSAIET (FIVB) afeliaia g3y Yy SftmiRi it erer Fuffeq # @ 59
R L

Ans X 1.3col 3R O
X 2. gETRAT 3R WA
3. UIds 3R Tt
X 4. 3edl 3R gamhan

Question ID : 26433059410
Status : Not Answered
Chosen Option : --

Q.7 59 $U HART I HYID (sweetener) BT IFD JA C14H1gN205 BT @ & Tt I Y
Tt AT WeT gaT 87
Ans X 1 fyaRH

X 2. B
3. TEey
< 4. goard

Question ID : 26433092181
Status : Answered
Chosen Option : 2

Q.8 Jars 2022 ¥ FiA FI¢ A Fifdar smanr #t froid w Wer o= foran s frad &,
m%m%maﬂMﬁWﬁaﬁfﬁ T TR&TUT foam ST
I
Ans X 1. 24 Tfaerd
7 2. 20 ufa=ra
2< 3. 15 gfa=rd

o 4. 27 Ufa=d

Question ID : 264330105238
Status : Answered
Chosen Option : 4

Q.9 %ﬁ%mgﬁqq&mmwuﬁ%%ﬁmuﬁmmmﬁﬁﬁqmmm
?

Ans X 1. SaAnf
2. aIgANT
7< 3. Yqant
X 4. ISHANT

Question ID : 264330105596
Status : Answered
Chosen Option : 2




Q.10 Wﬁﬁaﬁq—maﬁmmtﬁm%amﬁﬁmsﬁ?mﬁaﬁm
2

Ans X 1. BIUS HIRISHT

< 2. 23d IR
X 3. e il
o 4. DR BIRIBI
Question ID
Status

Chosen Option

126433087858
: Not Answered

Q.11 fyfesr wue & Fufafaa o 4 5w siftferaw & o1 T o1 & fafew St F e e
P URG & g 3o i e fean war ur?

Ans X 1. YRdIE uRyg 3fAfaH, 1861
2. HRd WPR a9, 1858
< 3. 3eR AfUfTH, 1853

X 4. Tt siffam, 1773

Question ID : 26433085264
Status : Answered
Chosen Option : 2
Q.12 TUreH faw gHRE & GHI &1 fafga 34 arar T9URiE 2
Ans X 1.qpUfd Yad | U B TURIE
X 2. YR 97 1 & ST [ gRT UalTs uRe
3. e it R
X 4.8 G WRS R YGioid ARG
Question ID : 26433086584
Status : Answered
Chosen Option : 1
Q.13 ydig gdf v fra yaR @t ad §2
Ans X 1. TG U
o 2. Rt uad
X 3. 9 Qe
X 4. wHg yaH
Question ID : 264330105651
Status : Not Answered
Chosen Option : --
Q.14 g 2022 ¥, TN} gxaia<or T 54 | fora Tsa gRT sraffd 3wt 82
Ans X 1.3y T
5 2. HBRIY
% 3. AR W
4. 9RA
Question ID : 264330105249
Status : Not Answered

Chosen Option : --




Q.15 it sha Fafafea ¥ 3 fra Tsa @ fRE 22
Ans X 1. FAlcd

X 2.
X 3. Sy Tex
o 4. offeEn

Question ID : 26433066519
Status : Answered
Chosen Option : 4

Q.16 IgHSH gaT Wl HT Ugar vl il § S foa o o smaifora gam ure
Ans X 1.2012%

o 2.2000

< 3.2008 T

X 4.2016 1

Question ID : 26433071546
Status : Not Answered
Chosen Option : --

Q17 _ 9 3agar 2022 ¥ HHARY Ieu fiar A & iR 31 ugHR |yTEr|
Ans X 1. gRET &, T

< 2.3 i@

2< 3. 39T YN0 UUSy

4. 0% PAR

Question ID : 264330105354
Status : Not Answered
Chosen Option : --

Q.18 1955 ¥ ITH 3R TY I & fore wifga winfa 1 A ar3Q?
Ans X 1. R gl

X 2. 9qa 9fafa

o 3.4 aifa

X 4. TRSH Afbfd

Question ID : 26433065447
Status : Answered
Chosen Option : 3

Q.19 gfe Fwia W R #t ¢ § PR frar o, APt am e s &
¥q ® frefoa far s wwar 21

Ans 7 1.1/1c
& 2.1/
K 3.c
X 4. -1lc

Question ID : 264330105383
Status : Not Answered
Chosen Option : --




Q.20 Iq¢ FATFA F AT aTet SR HU- A wWft Ft a7 (1751) frad f@amw @t A2

Ans X 1. 3[@Y HT FomH
X 2. IF AdE
3. R S
XK 4. geffe el @

Question ID : 264330105558
Status : Answered
Chosen Option : 3

Q.21 I T Pt dH1P T AMIHR TaA yga 99 A T gd gam uTl
Ans X 1.9000

< 2. 5000
2< 3. 3000
 4.7000

Question ID : 264330105187
Status : Answered
Chosen Option : 2

Q.22 a7 HNFHST S WEH T U S1 G54 SIvQ|
Ans X 1.Ug

X2g®

X 3. YR B

4. fhame

Question ID : 26433064761
Status : Answered
Chosen Option : 4

Q.23 fFofafed # @ 5w a5 W & wrod ot @™ TE- ¥
Ans X 1 R

2. 9HUd

< 3. BRaT

X 4.3

Question ID : 264330105503
Status : Answered
Chosen Option : 2

Q.24 @ ¥ § $9-91 T Flee Tiita & g frar smar 82
Ans X 1. DYD

« 2. Dfgst

X 3.

X 4. anfeh

Question ID : 26433054865
Status : Answered
Chosen Option : 2




Q.25 g1 BT ARPHR" F 3iaild fraa fRreRI 1 IwE 22
Ans X 1.3

K24
X 3.6
4.5

Question ID : 26433086668
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 TH FTRER W FHT AT UR 20% FI Fe 3 T 71 Wiah A Rs.400 Sifrd Gw@ w1 TH
b AT @ dieT| afe ge 3 F 916 WR A 25% &1 @y AfRid fban ot 3w ha gea

FR?
Ans X 1.Rs.380
/5 2.Rs.280
/< 3.Rs.320
o« 4.Rs.256
Question ID : 26433075062
Status : Answered
Chosen Option : 4
Q.2 2 2
COS" X—SeCc™ X
e 2" """ " — 3+ bcos Zx%',?-ﬁ'a, b=7?

tanZx

Ans 7 1.-3, -1

X2 — =
X 3.3,1

. a1
xa 277

Question ID : 26433061626
Status : Not Answered
Chosen Option : --




Q.3 = foan man g for 7 At Sufrn &t e &) guifar 81 57 @it 7 S 3t pa g
3600 81 TF RARIp Husit 31 faet &t 379 Wt 7 sufrat 3t oo fae & deuf & feht & =u

Ans

# qufar mar g1

P
90

FrufafEa & & 919w sy 9 2
1. U P 3R Q Y 3t faet o1 Hu= T 3R U Ft 3iaa faest F erqura 9.: 10 81
II. Ft R 3R S Bt pot faet ok Husit v F1 fasst & g &1 3R 1050 81

 1.5ad |
< 2. 1T 11 gAY
X 3. Haall
X 4B

Question ID : 264330105776
Status : Answered
Chosen Option : 1

Q.4

Ans

146 X146X146-143x143x143
&1 1 1 8NP

146 x146+143%143+146x143
& 1.3

X 2.289

X 3.1

X 40

Question ID : 264330626738
Status : Answered
Chosen Option : 1

Q.5

Ans

TS IR AR IA WP TR at N s faH deaagd 2l
X 1.2

Moo

X 3.1

& 4.0

Question ID : 26433082696
Status : Answered
Chosen Option : 4




A frm o A B, O 3R AB o m H gt F e & 3w
gefar g1

@ BAg 'O & gt FT HEA F TH T Wa TAg A 3R AB' F
EAEIAT3T F TEA & HET F I FqT §7
Ans X 1.2:3
& 2.1:1
X3.1:2
X 4.2:1

Question ID : 26433082993
Status : Answered
Chosen Option : 2

Q7 .
AT sinh == & ST 0 A HIOT §, Al tan6 + cot F AT AT HFOIC

Ans 217

1.
X 110

289
v 2 120

281
© 190

512
© 321

Question ID : 26433074490
Status : Answered
Chosen Option : 2

Q.8 TP 7-3APT WEAT 89476+2 H, * BT YATH THT W FT ¢ o W 8 | fyursa g2
Ans X 1.1

& 2.3
K5 3.4
X 4.2

Question ID : 26433065260
Status : Answered
Chosen Option : 2




Q9 | 1
afe p—l—}zt’} g p4+g ST HH FT 572

Ans 7 1. 1442
X< 2. 1444
< 3.1432
X 4. 1562

Question ID : 264330105946
Status : Answered
Chosen Option : 1

Q.10 T Ff¥d go™ A, ATV, T Ted BT 130% B1 1S 9 7eg A 28% P gfS St @ ok
forepa e R 3641 2, A1 Frpeaw qul W@ & e wfsr o1 82

Ans X 1.59%
 2.80%
X 3.75%
2 4.60%

Question ID : 26433063780
Status : Answered
Chosen Option : 2

Q.11
o sinzﬂcos?‘ﬂ=§ 2@ cosec? O + sec? § FTAMFTE?
Ans x 1. 9\5
X 2.502
& 3.92
X 4.712

Question ID : 264330105898
Status : Answered
Chosen Option : 3

Q.12 gfe g8 fear ma § % 3 g9 Yl ABC 3R DFE & fog, .A = 25°,.E = 25°,.B = .F
= 90° 3fX AC = ED %, o) fFrraferfad # @ 9 a1 foees aea 82

Ans X 1.AABC = AFED
« 2. AABC = AEFD
< 3. AABC = ADFE
< 4. AABC = ADEF

Question ID : 26433075961
Status : Answered
Chosen Option : 2




Q.13

Ans 1
f’l.ﬂ
2 105

B
x 3 L
48
x4 4
24

. 2, 2 3R L3 Agan gAMEas (HCF) 7 &

Question ID : 26433075790
Status : Answered
Chosen Option : 2

Ans

X1 9.3 @
v 2123 T

X3 133 3
X 4.10-f3 a7

Q.14 wgnmgﬁgvraﬁaw%ﬁ.ﬁ.%l 39 wHaTg Y 3 a9 a1d a9 o B
T2

Question ID : 264330105870
Status : Answered
Chosen Option : 2

Ans

 1.57.6 kmih
< 2.455km/h
< 3.63.2kmth
X 4.73.5km/h

Q.15 Us i fpet FAfda g &) a9 §RT 45 km/h B 916 | 99 ST @ 3R G0 PR §RT 80
km/h P 91 F TR g W Ay mar 8 1 T 9 & SR SHPT 3 a1 farat 82

Question ID : 26433074454
Status : Answered
Chosen Option : 1




Q.16 i &t 77E ATt 6 I § TH WA A AP IR ASIHA B W@ P gWied

I« | =% | =R
A 80 70
B 60 50
C 120 100
D 100 140
E 160 40
F a0 80
A 3R ¢ ¥ faTe? as®! Y W &1 99 E 3R F ¥ frares dsfeal &t wem S«
U 82
Ans X 1.5:2
X27:3
K 3.7:2
& 4.5:3

Question ID : 264330105712
Status : Answered
Chosen Option : 4

Q.17 9 YFTHP TBATE 4 : 5: 7 P 3JUTd | & 30T ITeh @il &1 AT 15,210 B | FIY sy
T TN T BT

Ans X 1.156
2. 208

X 3.126
X 4.148

Question ID : 26433063785
Status : Answered
Chosen Option : 2

Q.18 Hidt 7 2 o a1g Tw Fifda A W 2480 F WTURT ST FT YA fBAT| 9% 8% anfe
| 1T [T BT

Ans X 1.%2,200
X 2.32,500
 3.%3,000
X 4.%2,000

Question ID : 26433091554
Status : Answered
Chosen Option : 3

Q.19 *x' km/h B T A AIS 32 TP TR BT HBT, 10 km/h F} =161 | S @ TP gRFsH gRI
fora o 81 Afe AR 100 HWiew M 8, A1 YRS 3 e & 1g IR F uPs Aar g o
TS % AR 5 91e | UITTET § (x SIFTd 91 81)?

Ans 7 1.8 km/h
< 2.6 km/h
< 3.4 km/h
/< 4.10 km/h

Question ID : 26433075242
Status : Answered
Chosen Option : 1




Q20 ama 3tk s v W AR R AR g Rl o A S Re & quoaRa # ol amw A
YA AT G ¥ AN auaT § F fr g AR IS A aroel At awar kD ¥
R g, & e R F O e ST I q@T shel I A G He o maw

AT AT
Ans X 1.6fa
& 2.8
X 3.12f&
X 410

Question ID : 26433080136
Status : Not Answered
Chosen Option : --

Q.21 A @ 7 arferer ufe Rfte g A @ wa ) Fad o axfd 31

Tt uTa g § AT Ba A 9UT B Ft Faa & o9 &7 3R |1 82

el
gehlel A B
P 75 140
Q | 120 | 90
R 50 35
5 70 85
T 95 96
Ans X 1.24
2. 36
X 3.48
K 4.20

Question ID : 264330105749
Status : Answered
Chosen Option : 2

Q.22 4. 15x3 + 15x2 - 15x + 40 DT H JId HIOEI x = 14 e AT 21

Ans X 1.14
X 20
< 3.40
& 4.26

Question ID : 26433091951
Status : Not Answered
Chosen Option : --

Q.23 gfa AABC = APQR. BC = 6cm 3R £ 4 = 75° %, I Fofef@d ¥ Y oH-a fiseu ga &2

Ans X 1. PR= 6 cm, 2P = 75°
X2 QR=6cm,2Q =75°
¢ 3 QR =6 cm, 2P = 75°
X4 QR=6cm,2ZR=75°

Question ID : 26433063817
Status : Answered
Chosen Option : 3




Q.24 ugd 99 & RM, T femera § fyenfiat ot e & 12% oY 9fS g8, g af & 129% #t
T g5 SR TR ad A 10% B S 551 TR adf & o A sw e 5t e @y
10842 | vga af i} v A ag T w4 A

Ans X 1.8000

< 2. 6500
< 3. 12000
« 4.10000

Question ID : 26433075937
Status : Answered
Chosen Option : 4

Q.25 T& % g X, ORIt sy &t Bs41 21 cm B, 31 9% gt &%d 594 & cm 1
3 B fode Sarg fra-it 82

Ans  1.9cm
X 2.6cm
5 3.15¢cm
X 4.1 cm

Question ID : 26433063813
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.If things get out of control, competition might become totally toxic.
B.Competition is the act of participating in a contest and the strive to finish first.
C.Competition enables those who effectively deal well enough to grow and realise
their skills and talents.

D.The essence of competition is placing oneself against one’s contemporaries and
frequently against oneself.

Ans X 1. CABD
« 2. BDCA
< 3.DCAB
< 4. ADBC

Question ID : 26433070631
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate synonym of the given word from the following sentence.

Encountered
Many people have been experiencing the starting of heat wave and some of them have

avoided going outside their homes.
Ans X 1. Starting

/< 2. Avoided
/< 3. Outside
«” 4. Experiencing

Question ID : 26433072808
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate meaning of the underlined idiom.
The new intern is a greenhorn and thus his superiors take advantage of him.

Ans X 1. Overenthusiastic
«” 2. Inexperienced
X 3. Sick
< 4. Jealous

Question ID : 26433060191
Status : Answered
Chosen Option : 2

Q.4 Rearrange the parts of the sentence in correct order.
American alligators were
P. now this species is classified as least concern
Q. list in 1967, their population increased and
R. once threatened by extinction but
S. after being placed on the endangered species

Ans X 1.PQSR
X 2.RPQS
« 3.RSQP
< 4.SQPR

Question ID : 264330104672
Status : Answered
Chosen Option : 3

Q.5 Select the option that expresses the given sentence in passive voice.
Sanjay rolled the marble through a small plastic pipe.
Ans X 1. A small plastic pipe was rolled through a marble by Sanjay.
#< 2. The marble was rolled by Sanjay in a small plastic pipe.
«” 3. The marble was rolled through a small plastic pipe by Sanjay.
< 4. The marble through a small plastic pipe was rolled by Sanjay.

Question ID : 26433090399
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate adverb to fill in the blank.

Nitha can assemble the students of her class
Ans X 1.slow
5 2. distract
/< 3. perfect

«” 4. quickly

Question ID : 26433089273
Status : Answered
Chosen Option : 4




Q.7 Select the option that expresses the given sentence in passive voice.
Mary was cooking the meal.
Ans « 1. The meal was being cooked by Mary.
/5 2. The meal was already being cooked by Mary.
/< 3. Mary was about to cook the meal.
/5 4. The meal were being cooked by Mary.

Question ID : 26433093881
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to complete the given sentence.
She raised a when she saw her luggage missing.

Ans X 1. spick and span
< 2. whip and spur
«” 3. hue and cry
/< 4. hand and foot

Question ID : 26433084704
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

We have only just enough money to live on now, and if my husband loses his job, we’ll
really be up again it.

Ans X 1.be up cross it
25 2. be up across it
«” 3. be up against it
/< 4. be up gone it

Question ID : 26433071931
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Blind by a dust storm, they fell into disorder.
Ans X 1. Blinding
/% 2. Have been blind
/< 3. Being blind
«” 4. Blinded

Question ID : 26433088832
Status : Answered
Chosen Option : 4

Q.11 Select the INCORRECTLY spelt word.
Ans X 1.Pollen

/< 2. Mousy
«” 3. Quever
& 4. Quasi

Question ID : 26433063147
Status : Not Answered
Chosen Option : --




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Murder of an infant
Ans 7 1. Infanticide

/5 2. Feticide
< 3. Sacrifice
5 4. Foeticide

Question ID : 26433061038
Status : Answered
Chosen Option : 1

Q.13 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

The ameteur sculptor received an award at the international sculpting competition.
Ans X 1. ameateur
< 2. No error
«” 3. amateur

/< 4. ameature

Question ID : 26433058638
Status : Answered
Chosen Option : 3

Q.14 Select the correct direct form of the given sentence.
The old man asked the boy where the postman was.

Ans X 1. The old man said to the boy, “Where was the postman?”
«” 2. The old man said to the boy, “Where is the postman?”
/% 3. The old man said to the boy, “Where has been the postman?”

/< 4. The old man says to the boy, “Where is the postman?”

Question ID : 264330104648
Status : Answered
Chosen Option : 2

Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

Strong hostility
Ans X 1. Anonymity
«” 2. Animosity
/< 3. Comity
25 4. Animalistic

Question ID : 26433070668
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate synonym of the underlined word.

The foreign company is chary of investing in Africa.
Ans X 1. Confident
«” 2. Cautious
25 3. Keen
5 4. Fervent

Question ID : 26433070505
Status : Answered
Chosen Option : 2

Q.17 Fill in the blank with the correct collocation.

Of course, we agree with that measure, it is sensible.
Ans 7 1. perfectly
25 2. hardly
< 3. slightly
5 4. partially

Question ID : 26433090503
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate synonym of the given word.
Anger
Ans X 1. Comfort
/< 2. Pleasure
«” 3. Fury
/< 4. Agony

Question ID : 26433060889
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate ANTONYM of the underlined word.
The soldiers were irresolute and so, they won the war for the infantry and the country.

Ans X 1. variant
«” 2. decisive
/< 3. default
/< 4. harsh

Question ID : 26433059733
Status : Answered
Chosen Option : 2

Q.20 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

The wedding gown / looked decently / despite being / studded wit jewels.
Ans X 1. despite being

/< 2. studded with jewels.
/5 3. The wedding gown
«” 4. looked decently

Question ID : 26433073826
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Allegiance to one’s favourite team is something that sports fans 1 over a period of
time. They are so attached to their favourite teams that they could display 2 emotions,
not just during the course of the match, but much after the actual event is over. This
phenomenon, 3 common across the globe, is more seen in countries like Brazil, India,
the US and even the UK, where the favourite sport may not be the same in each of these
nations. In spite of this craze and hysteria, sport has 4 a long way. It is accepted as
one of the world’s most 5 pastimes ever.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.infer

«” 2. develop
< 3. crave
&5 4. defer

Question ID : 26433073956
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Allegiance to one’s favourite team is something that sports fans 1 over a period of
time. They are so attached to their favourite teams that they could display 2 emotions,
not just during the course of the match, but much after the actual event is over. This
phenomenon, 3 common across the globe, is more seen in countries like Brazil, India,
the US and even the UK, where the favourite sport may not be the same in each of these
nations. In spite of this craze and hysteria, sport has 4 a long way. It is accepted as
one of the world’s most 5 pastimes ever.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.dread

& 2. hurried
o 3. varied

/X 4. concrete

Question ID : 26433073957
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Allegiance to one’s favourite team is something that sports fans 1 over a period of
time. They are so attached to their favourite teams that they could display 2 emotions,
not just during the course of the match, but much after the actual event is over. This
phenomenon, 3 common across the globe, is more seen in countries like Brazil, India,
the US and even the UK, where the favourite sport may not be the same in each of these
nations. In spite of this craze and hysteria, sport has 4 a long way. It is accepted as
one of the world’s most 5 pastimes ever.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.as

/5 2.in spite of
«” 3. though
5 4. despite

Question ID : 26433073958
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Allegiance to one’s favourite team is something that sports fans 1 over a period of
time. They are so attached to their favourite teams that they could display 2 emotions,
not just during the course of the match, but much after the actual event is over. This
phenomenon, 3 common across the globe, is more seen in countries like Brazil, India,
the US and even the UK, where the favourite sport may not be the same in each of these
nations. In spite of this craze and hysteria, sport has 4 a long way. It is accepted as
one of the world’s most 5 pastimes ever.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 7 1.come

X 2. fame
/5 3. came

X 4. game

Question ID : 26433073959
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Allegiance to one’s favourite team is something that sports fans 1 over a period of
time. They are so attached to their favourite teams that they could display 2 emotions,
not just during the course of the match, but much after the actual event is over. This
phenomenon, 3 common across the globe, is more seen in countries like Brazil, India,
the US and even the UK, where the favourite sport may not be the same in each of these
nations. In spite of this craze and hysteria, sport has 4 a long way. It is accepted as
one of the world’s most 5 pastimes ever.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans ¢ 1. entertaining

/5 2. inhibited
/< 3. detrimental
5 4. tiresome

Question ID : 26433073960
Status : Answered
Chosen Option : 1




